#ER :1/2,500

it T

BAWRZDIESE |AEsboRE
HRFAEES 132302A661103002

BRI £EC
FriEh T SIRETE R

ﬁLL IE X s R
\m .t.-A T

1/50,000
S s B7C=GAN
e

X & & R A

[ ] twx=zaxs

- IRRERNERRE (APERSES) —
BEIZEBD HAM00KN/ mERBZ HR KL
HHEEIMERR DR

[ ] zhesiors

B RR X [ F FR<

ITEFDHADRESDERT

[TEFDHORSSI—ERIZHE

1/2,500

1/ 2

ERRE



TEFOAODKESS—E

(BEEIE) BARRDIEE |AEfHORE
1. TEEO)%&{EW?”@”&?ME%‘:*U'Zﬁ’\ EMAEES  |132302A661103002
jjd)lZé;‘i%EG)EﬁHﬂ éhf:zﬁﬁo)ﬁiﬁﬂ_imb—CL %, N e -
(A) BENZ LB NH100kN/MZERBZ DREBDOBED 51 DB KIEKN/ 1) (E) BN IMERZ DR B DHEED N DRABEKN/) 2 ITHXERARUZENISHIBREEZHT S s £EC
N 3 mEEZ RAMEKN/m = ASmERBZ & RAMEKN/m EHEES —H1=Y . LY = s 3
B) (WAL HREY AT HBEDLEEDENm) (F) (B 4R RS BB ) L% DB &(m) %ﬁ?gfgl’_égfﬁi'ﬂ?t%%if_ﬁ@ mﬂ A 7E W B RETE
(C) BB & B HAT00kN/mM LT DR DI END 11 D& KIEKN/ ) (G) HEEH MU T ORIFDHFED S OBEKEKN/m) BAM2/d e rHMI,-.:_ =R Pri-lm A1
D) C)ALHEEYIERTIBENEEZENEI(m) H) QN LZBREY AT IBEDLREENES(M) DEGRENCBEETHIENTED,
HETHITHADEIREEDHDOAES SEMADTREDHDAES
RAES B =
(A) B) (©) (D) (E) (F) (@) (H) (A) (B) ©) (D) (E) (F) (@) (H)
(1) 119.5 1.0 99.8 1.0 - - 111 2.2 117.6 1.0 98.7 1.0 — - 1.1 2.2

2/ 2

ERE



